

Name: Chidambaram Christogamur

Dept: Elect / Elect Eng

Matric No: 19/ENG04/012

Date: 2nd / 04 / 2020

MAT 104 Assignment.

* Differentiate the following.

$$① \quad y = \frac{(x+1)^2 (x-2)^{1/2}}{(2x-1)(x-3)^{4/3}}$$

Soln [Using Logarithm of Diff]

$$\ln y = \ln [(x+1)^2] + \ln [(x-2)^{1/2}] - [\ln(2x-1) + \ln(x-3)^{4/3}]$$

$$\frac{1}{y} \frac{dy}{dx} = \left[\frac{1}{(x+1)^2} \cdot 2(x+1) + \frac{1}{(x-2)^{1/2}} \cdot \frac{1}{2}(x-2)^{-1/2} - \frac{1}{(2x-1)} \cdot 2 - \frac{1}{(x-3)^{4/3}} \cdot \frac{4}{3}(x-3)^{-1/3} \right]$$

$$= \frac{1}{y} \frac{dy}{dx} = \left[\frac{2}{x+1} + \frac{1}{2\sqrt{x-2}} - \frac{2}{2x-1} - \frac{4(x-3)^{1/3-4/3}}{3} \right]$$

$$\therefore \frac{dy}{dx} = \left[\frac{2}{x+1} + \frac{1}{2(x-2)} - \frac{2}{2x-1} - \frac{4}{3(x-3)} \right]$$

$$\frac{dy}{dx} = \frac{(x+1)^2 (x-2)^{1/2}}{(2x-1)(x-3)^{4/3}} \left[\frac{2}{x+1} + \frac{1}{2x-4} - \frac{2}{2x-1} - \frac{4}{3x-9} \right]$$

②

$$y = \frac{[3e^k \sin 2k]}{k^{5/2}}$$

Soln [Using Logarithm of Diff]

$$\ln y = \ln 3e^k + \ln \sin 2k - \ln k^{5/2}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{1}{3e^k} \cdot 3e^k + \frac{1}{\sin 2k} \cdot 2 \cos 2k - \frac{1}{k^{5/2}} \cdot \frac{5}{2} k^{3/2}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{3e^k}{3e^k} + \frac{2 \cos 2k}{\sin 2k} - \frac{5}{2} \frac{k^{3/2}}{k^{5/2}}$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \left[1 + \frac{2 \cos 2k}{\sin 2k} - \frac{5}{2} k^{\frac{3}{2}-\frac{5}{2}} \right]$$

$$\therefore \frac{dy}{dx} = y \left[1 + \frac{2 \cos 2k}{\sin 2k} - \frac{5}{2} k^{-1} \right]$$

$$\frac{dy}{dx} = \frac{3e^k \sin 2k}{k^{\frac{5}{2}}} \left[1 + \frac{2 \cos 2k}{\sin 2k} - \frac{5}{2k} \right]$$

* Integration [Integrate the following with respect to the variable]

(1) $4 \sec^2(3m+1)$

Solu

$$4 \int \sec^2(3m+1) dm$$

$$\therefore (3m+1) = u \quad \therefore \frac{du}{dm} = 3 \Rightarrow 3 dm \quad \therefore \frac{du}{3} = \frac{3 dm}{3}$$

$$\therefore dm = \frac{du}{3}$$

$$\therefore 4 \int \sec^2(u) \frac{du}{3} = \frac{4}{3} \tan u + C$$

$$= \frac{4}{3} \tan(3m+1) + C$$

(2) $2t(3t^2-1)^{1/2}$

Solu

$$\int 2t(3t^2-1)^{1/2} dt$$

$$\therefore \text{let } u = \sqrt{3t^2-1} \quad \therefore u^2 = 3t^2-1 \quad \therefore 3t^2 = u^2+1$$

$$\therefore t^2 = \frac{u^2+1}{3} \quad \therefore t = \frac{\sqrt{u^2+1}}{3}$$

$$\frac{dt}{du} = \frac{1}{2} \left(\frac{u^2+1}{3} \right)^{-1/2} \cdot \frac{2u}{3}$$

$$\frac{dt}{du} = \frac{u}{3} \left(\frac{u^2+1}{3} \right)^{-1/2}$$

$$dt = \frac{u du}{3} \left(\frac{u^2+1}{3} \right)^{-1/2}$$

$$= \int 2 \left(\frac{u^2+1}{3} \right)^{1/2} \cdot u \cdot \frac{u du}{3} \left(\frac{u^2+1}{3} \right)^{-1/2}$$

$$= \frac{2}{3} \int u^2 \left(\frac{u^2+1}{3} \right)^{1/2 - 1/2} du$$

$$= \frac{2}{3} \int u^2 du$$

$$= \frac{2}{3} \left[\frac{u^3}{3} \right] + C$$

$$= \frac{2u^3}{9} + C$$

$$= \frac{2(3t^2-1)^{3/2}}{9} + C$$

(3)

$$\int \frac{2x}{[4x^2-1]^{1/2}} dx$$

Solu

$$u = \sqrt{4x^2-1}$$

$$= u^2 = 4x^2 - 1 = 4x^2 = u + 1$$

$$= \frac{2y^3}{9} + C$$

$$= \frac{2(3t^2-1)^{3/2}}{9} + C$$

3

$$\int \frac{2x}{\sqrt{4x^2-1}} dx$$

Solu

$$u = \sqrt{4x^2-1} \quad \therefore u^2 = 4x^2-1 \quad \therefore 2u \cdot \frac{du}{dx} = 8x \quad \therefore \frac{du}{dx} = \frac{4x}{u}$$

$$\therefore 2x = \frac{u+1}{4}$$

Solu

$$\int \frac{2x}{\sqrt{4x^2-1}} dx \quad \text{let } u = \sqrt{4x^2-1} \quad \therefore \frac{du}{dx} = \frac{4x}{u}$$

$$\frac{dx}{dx} = \frac{du}{4x} \quad \therefore \int \frac{2x}{\sqrt{4x^2-1}} \cdot \frac{du}{4x} = \int \frac{2}{4} \frac{du}{\sqrt{4x^2-1}}$$

$$= \frac{1}{2} \int \frac{du}{\sqrt{u^2-1}} = \frac{1}{2} \ln \left| \frac{u+1}{u-1} \right| + C = \frac{1}{2} \ln \left| \frac{\sqrt{4x^2-1}+1}{\sqrt{4x^2-1}-1} \right| + C$$

$$\frac{1}{2} \ln \left| \frac{\sqrt{4x^2-1}+1}{\sqrt{4x^2-1}-1} \right| + C$$